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Repeating and Growing Patterns

A repeating pattern has a pattern unit that

repeats over and over again.
3,4,5
keeps repeating.

A growing pattern can get bigger in the same way
over and over again. What is the next number?

|| ] ] HER 2 is added fo

get
| ] ... .... the next number.
I 3 5 7

Guided Practice Il

Draw the next picture to continue the pattern.

What is the next number?

"y
oF

weee

- 99000
o 9909
w eI

- 9000
o 99000
w eee

- 9000®
O 99909 ®

Write the numbers.
. Q@ o O O O
000 0 6 6 6 O 0 O
| 2 2
2 | o [ ] EEEE
u [ [ HEEN
2 4 - - -
Explain Your Thinking How are growing patterns different
from repeating patterns?
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Remember
A repeating pattern repeats
a part over and over. In a growing
pattern each part gets bigger

Draw the next picture
to continue the pattern.
Write the numbers.

than the last.

o D,

Write the numbers to continue the pattern.
4. 3 | 6 3 I 6 3 | 6

5.5 10 15 20 25 30 35 40O

Problem Solving '» Visual Thinking

6. Circle the letter pattern that has the same type
of repeating pattern as the shapes.

AKX E R

ABABAB
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- Translating Patterns

Susan and Peter made the same kind of pattern.
Susan made her pattern with apples.

d 5 PS> D DI I

Peter made his pattern with letters.
A B A B A B A B

T e 28 M T I TR T R O T T T Ay T e ¥ T T L P A M T L S R TR T PR RN WA, T D Il G T T R TR TR S

Use numbers to show the pattern another way.

Lot SR SRR

Use colors to show the pattern another way.

2% N @ N N @ N N @

Use shapes to show the pattern another way.

2% & % W & ® W & %
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Example problem: Farha went to the store to buy rolls for a big family dinner. At the store,

she bought 4 bags of rolls. Each bag contained 5 rolls. How many rolls did Farha buy?

Work Space:

Multiplication equation:

PRACTICE:
* Read each problem carefully.
* Show your thinking with pictures, numbers, and/or words.

* Record a multiplication equation that represents this problem.

1. 0On Samira’s walk home she saw 6 cars. If each car has 4 wheels, how many wheels
did she see in all?

Work Space:

Multiplication equation:

2. Manal brought 6 bags of cookies to school. Each bag had 3 cookies in it. How many
cookies were there all together?

Work Space:

Multiplication equation:

0 IV 1 ol Lo R Y 1N LFL oS LF1 oL P1Y IS LF1 of ¥
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3. Malek runs 3 miles each day. How many miles does he run in 7 days?

Work Space:

Multiplication equation:

4. A bag of oranges holds 4 oranges. How many oranges are in 8 bags?

Work Space:

Multiplication equation:

5. It takes a rocket 7 seconds to travel one kilometer. How many seconds will it take

to travel 4 kilometers?

Work Space:

Multiplication equation:

6. Each pack of pencils contains 8 pencils. How many pencils are in 3 packs?

Work Space:

Multiplication equation:
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Directions: Use the 120 Chart below to complete the following:

Color the multiples of 2 (color stated by teacher).

* Color the multiples of 3 (color stated by teacher).

Respond to the prompts at the bottom of the page.

1 2 3 4 5 6 7 8 9 10

11 12 113114 |15 (16 | 17 | 18 | 19 | 20

21 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30

31 32 | 33 | 34 | 35| 36 | 37 | 38 | 39 | 40

a1 | 42 | 43 | 44 | 45 | a6 | 47 | 48 | 49 | 50

51 52 | 53 | 54 | 55 | 56 | 57 | 58 59 | 60

61 62 | 63 | 64 | 65 | 66 | 67 | 68 | 69 | 70

71 273 74 |75 | 76 | 77| /78 79 | 80

81 82 | 83 | 84 [ 85 | 86 | 87 | 88 | 89 | 90

91 92 | 93 | 94 | 95 | 96 | 97 | 98 [ 99 | 100

101 | 102 | 103 1 104 | 105 | 106 | 107 ] 108 | 109 | 110

M| M21 1131114 1151116 | 1171 118 | 119 | 120

List the first 10 multiples of 2.

I T T 1 I I T 1 r

List the first 10 multiples of 3.

List all of the multiples you found that 2 and 3 share:

9’)3‘)6"396)96}1\39631
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Directions: Solve the following grouping problems to figure out how many animals
can eat. You can use counters to help you. Please draw and show all of your work.

1. Each ibis will eat 3 worms. You have 18 worms. How many ibis can be fed?

2. Each jackal must eat 6 insects. There are 24 insects. How many jackals can be fed?

3. Each crocodile wants to eat 5 fish. There are 25 fish. How many crocodiles can be fed?
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Directions: Using the quadrilateral sheet, cut out the shapes and place them where
they belong on the Venn diagram below. Label each circle and the intersection.
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Directions: Follow the steps below.

1. Read the problem and then build the garden plot using the small squares.

2. Draw the garden plot on the grid paper. (Hint: You can place your squares on the
grid to help you draw the outlines of the garden plot.)

3. Find the total area of the garden plot (array).
4. Repeat for all garden plots.

GARDEN PLOT PROBLEMS ANSWERS

Garden Plot #1: Jana is planting squash. Each squash needs 1
square unit of space. She would like the garden to have 2 rows with
9 square units in each row. How many squash can she fit? What is

the area of her garden in square units?

Garden Plot #2: Omar wants to plant corn. Corn needs 1 square
unit of space. He would like the garden to have 3 rows with 7 square
units in each row. How much corn can Omar fit in his garden? What
is the area of his garden in square units?

Garden Plot #3: Youssef loves watermelon and wants to plant it
in his garden. Watermelon needs 1 square unit of space. He would
like the garden to have 4 rows with 4 square units in each row. How

many watermelons can Youssef fit in his garden? What is the area of
his garden in square units?

Garden Plot #4: Nadia wants to plant zucchini. Zucchini needs 1
square unit of space. She would like the garden to have 3 rows with
4 square units in each row. How much zucchini can Nadia fit in her
garden? What is the area of her garden in square units?

Garden Plot #5: Aya wants to plant lettuce. Lettuce needs 1 square
unit of space. She would like the garden to have 5 rows with 8
square units in each row. How much lettuce can Aya fit in her
garden? What is the area of her garden in square units?
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CHALLENGE:

These gardens are not rectangular. Can you find the area anyway?
Show your thinking.

POCHYHT UGV HYT VUL LT VL

~

ar

9

<

° Work Space
Problem 1: Problem 1:

A,

5

S ol :

9

<

Q Rectangle #2: Rectangle #2:

Q

W

g o :

9,

<

>

ON3IGAILILHIV

Aclihll joly CilySag




309@5309359)3300093

HANILHILI9H IO

Cﬁf@ﬂﬁﬁf@ﬁf@ﬂzﬁfﬁc




NH2H5AONHI2HOHANHNIHH2O

HODNIYHIY2YH2DO

>
A
N
WCHYHTNVNSYHTHYHT UL HE



NH2H5AONHI2HOHANHNIHH2O

HODNIYHIY2YH2DO

>
A
N
WCHYHTNVNSYHTHYHT UL HE



NH2H5AONHI2HOHANHNIHH2O

HODNIYHIY2YH2DO

>
A
N
WCHYHTNVNSYHTHYHT UL HE



NH2H5AONHI2HOHANHNIHH2O

HODNIYHIY2YH2DO

>
A
N
WCHYHTNVNSYHTHYHT UL HE



NH2H5AONHI2HOHANHNIHH2O

HODNIYHIY2YH2DO

>
A
N
WCHYHTNVNSYHTHYHT UL HE



NH2H50OHI2H5A2H0HN3HYH2O

c

G

(]

4

|-

>

m 1l 1 Il 1l 1l 1l I
o 1 1 Il 1l Il I 1 1l Il

m o
Q fo)) 0 e} —
()

9,
<
o
#)
'3
o
0
gl
<

WCUHTOTUHTUHTNOGT G



NH2H50OHI2H5A2H0HN3HYH2O

9
<
>
9
>
9
<
>
A
4
<

X,
"
3
NCUBTATUATUHTNVGTHEA



NH2H5O0O0HI2H5A2H0HN3HYH2O

<

Ter

P

HOANIHLHIG2UYH2DO
rime

X,
"
3
NCUBTATUATUHTHVGTHEA



NH2H5AONHI2HOHANHNIHH2O

HODNIYHIY2YH2DO

>
A
N
WCHYHTNVNSYHTHYHT UL HE



NH2H5AONHI2HOHANHNIHH2O

HODNIYHIY2YH2DO

>
A
N
WCHYHTNVNSYHTHYHT UL HE



NH2H5AONHI2HOHANHNIHH2O

HODNIYHIY2YH2DO

>
A
N
WCHYHTNVNSYHTHYHT UL HE



ANIUHDY29H2V3

Part 1 Directions: Solve the story problems below. Include a drawing and an equation
for each problem. Be sure to label your answers.

1. Shaimaa is sewing a border on a square baby blanket. The length of the blanket is 45
centimeters and the width is 45 centimeters. How long will the border be?

2. Farouk is building a patio out of tiles. He wants the length of the patio to be 7 tiles
across and its width to be 6 tiles. How many tiles will he use in all to build the patio?
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3. Omnia wants to put a wooden trim around her window. The window is 4 meters tall
and 1 meter wide. How much wood does she need for the trim?

4. A farmer is building a fence around his garden. If the garden is 8 meters long and 3
meters wide, how much fencing does he need to buy?

5. Arugis 3 meters long and 2 meters wide. What is the area of the rug?
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t 2 Directions: Write your own story problems. Write one perimeter story problem
one area story problem.
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Directions: Solve the problems below. Split the multiples of 10 into 10 and the other
factor. For example, 40 has the factors 10 and 4.

Example:
8 x40
(8x4)x10=320

3x90 4 x 80
( X )x10= ( X )x10=
9x 20 6 x 30
( X )><10= ( X )><10=
8 x 50 7 x 30
( X )x10= ( X )x10=
6x70 5 x 40
( X )><10= ( X )><10=

CHALLENGE: Malek bought a box of cards. In the box there were 6 smaller boxes, and in
each of those boxes there were 6 packs of 10 cards. To find the total number of cards he
bought, Malek wrote this equation: 6 x 60 = 360. Is he correct? Explain how you know.
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( Another Nines Trick )

Step 1: Make a column of numbers on your
paper from 0 through 9.

NN~ WMNMN=—-=O

Step 2: Next to your column, you're going to 09
make another column of numbers. 18
This time, count backwards 27
from ¢ all the way down to 0. 36

Step 3: You've just written all the answers to 18=9x2
your nines times tables. Write the 27=9x3
facts next to the numbers. 36=9x%x4
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Group 3: 120 Chart Strategy

- Directions: Shade in all the multiples of 9. Next to the chart, record what patterns
you notice.

] 5 3 4 5 6 7 8 9 | 10 Describe the patterns you

observe.

Mmil12113 114 115 (16 |17 |18 | 19| 20

21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30

31 |32 | 33|34 |35 |36 |37 ] 38| 39| 40

a1 | 42 | 43| 44 | 45 | 46 | 47 | 48 | 49 | 50

51| 52 | 53| 54 55|56 |57 |58]59] 60

61 | 62 | 63 | 64 [ 65 | 66 | 67 | 68 | 69 | 70

N V72 1737417517677 78] 79| 80

81 182|838 | 8 |8 | 8 | 8] 89| 90

91 1 92 | 93 1 94 [ 95| 96 | 97 | 98 | 99 | 100

10111021 103|104 105(106]1071108| 109|110

M 1121131114 1115 (1161171118119 120

CHALLENGE: Record all the multiplication equations below. See if you can find products
beyond those you colored in the 120 Chart.
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’ Group 4: Tens Facts Strategy

- Directions: You can use what you know about multiplying by 10 to quickly multiply by 9.
Look at the example below. Solve and discuss each problem with your group.

, 9x6 '

c First draw a model of 10 x 6 and then cross out one group of 6. Now there are 9 Q
groups of 6.
o 6|le6|6|6|6|6]|6]|6]s ’
" 10x 6 = 60 N
A V4

o~ 60-6 = S09x6 = e
«Qr

- 9x5 ‘
c 10x5 = so9x5 = Q
J 9x7 y’
c 10x7 = so9x7 = Q
o 9x3 ’
‘ . -r
o
‘ 10x3 = So9x3 =
4 <
ﬁ 10%x2 = S09x2 = Q
< p”

OH3ILAILICHIO

Achbll Gjaly CilpS3g




30935309)59053000930
B B A N A O O R O AR O IR N R

+++++++++++++++++++

00000000000000000000

00000000000000000000

99999999999999999999

XXXXXXXXXXXXXXX

ICUHTATUHTHUHTHVGTHA




HOODIYHIY2YH2DO

' Directions: Solve the problem below with your partner.

Gamila said that since 9 is the digit with the largest value, the number 999 is larger than
1000. Do you agree or disagree? Why?

Directions: Solve the rest of these problems independently.

Puzzle 1:

This number has 5 Thousands, 7 Hundreds, 6 Tens, and 4 Ones. What number is it?

Puzzle 2:

This number has 12 Hundreds, 15 Tens, and 6 ones. What number is it?

Puzzle 3:
Write the following number in standard form. Pay attention to the place value.

6,000 + 50,000 +40 + 300 + 2 =

Puzzle 4:

Write the following number in expanded form.

3,509 =
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Puzzle 5:

Radwa ordered the following numbers from smallest to largest. What did she do incorrectly?

5,021 5,201 5102 5,210

Reorder the numbers correctly: , '

Puzzle 6:
Sara compared the numbers below. What is her error?

13,470 < 13,407

Puzzle 7:

Order the following numbers from least to greatest: 50; 5; 500; 5,000; 1; 10,000; 500,000.

CHALLENGE:

Write at least one place value puzzle of your own for a number that has at least 4 Ten

Thousands.
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